CSSE 376
Software Quality Assurance

Post-Exam 2 Comments
I will just discuss problems 2 and 6, where most of the difficulties occurred.

Problem 2 was based on slides 14 and 15 of the lecture on metrics and reliability on April 5.  Using the table provided (also shown below)…

	Test
	Random Numbers
	Test Cases

	1
	29, 11, 47, 52, 26, 94
	C, P, C, D, C, I

	2
	62, 98, 39, 78, 82, 65
	D, I, C, D, D, D

	3
	83, 32, 58, 41, 36, 17
	D, C, D, C, C, P

	4
	36, 49, 96, 82, 20, 77
	C, C, I, D, C, D


…we have the following range of random numbers generated:
P 11-17

C 20-49

D 52-83

I 94-98

However, since we know that the range of values is from 0 to 99, this means that P must start at zero and I end at 99:
P 0-17

C 20-49

D 52-83

I 94-99

We still have “gaps” in the number generation, which is why there is more than one answer.  One possible answer:
P 0-19

C 20-49

D 50-89

I 90-99

In general,

P could be anywhere from 17 to 19%,

C from 30 to 34%,

D from 32 to 44%, and

I from 6 to 16%.
Problem 6 (the last problem, mislabeled as problem 5), we had the following table:
	Attribute
	Range
	Distribution

	Computer experience
	none to 20 years
	50% 5 years or more
40% 1-4 years
10% none

	Age
	7-45 years
	75% 18-34
15% 7-17
10% over 34

	Gender
	male/female
	60% female


Gender is simple: just ask if male or female.

The computer experience intervals provided by the range and distribution are
0

1-4

5-20

However, since experience out of range is possible, we need to add that as well:

0

1-4

5-20

more than 20

Finally, the age intervals provided by the range and distribution are

7-17

18-34

35-45

However, since age out of range is also possible, we need to add that as well:

younger than 7

7-17

18-34

35-45

older than 45
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